# CERTAIN SUBCLASS OF UNIVALENT FUNCTIONS ASSOCIATED WITH M-SERIES BASED ON q-DERIVATIVE

#### SHAHRAM NAJAFZADEH<sup>1</sup>, §

ABSTRACT. By applying the q-derivative, M-series, convolution an subordination structures, we introduce a new subclass of univalent functions. For this subclass of functions, we obtain coefficient inequality, convexity and convolution preserving property. Some consequences of geometric properties are also considered.

Keywords: M-series, q-derivative, Convolution, Univalent function, Radii of starlikeness and convexity.

AMS Subject Classification: 30C45; 30C50.

#### 1. Introduction

The M-series investigated by Sharma [10] and is denoted by:

$${}^{\alpha}_{x}\mathcal{M}_{y}(b_{1},\ldots,b_{x};d_{1},\ldots,d_{y};z) = {}^{\alpha}_{x}\mathcal{M}_{y}(z)$$

$$= \sum_{k=0}^{\infty} \frac{(b_{1})_{k}\cdots(b_{x})_{k}}{(d_{1})_{k}\cdots(d_{y})_{k}} \frac{z^{k}}{\Gamma(\alpha k+1)},$$
(1)

where  $\alpha, z \in \mathbb{C}$ , Re $\{a\alpha\} > 0$  and  $(b_m)_k$ ,  $(d_m)_k$  are the well-known Pochhammer symbols which are defined in terms of the Gamma function by:

$$(x)_k = \frac{\Gamma(x+k)}{\Gamma(x)} = \begin{cases} 1 & , & k = 0, \\ x(x+1)\dots(x+k-1) & , & k \in \mathbb{N} = \{1, 2, \dots\}. \end{cases}$$
 (2)

It is easy to see that by the ratio test, the series in (1) is convergence for all z if  $x \leq y$ . The extension of both Mittag-Leffler function and generalized hypergeometric function  ${}_rF_s$  called generalized M-series was introduced in [12] and denoted by:

$${}_{x}^{\alpha}\mathcal{M}_{y}^{\beta}(z) = \sum_{k=0}^{\infty} \frac{(b_{1})_{k} \cdots (b_{x})_{k}}{(d_{1})_{k} \cdots (d_{y})_{k}} \frac{z^{k}}{\Gamma(\alpha k + \beta)}, \qquad (z, \alpha, \beta \in \mathbb{C}).$$

$$(3)$$

For more details see [6] and [11].

The series in (3) is convergence for all z if  $x \leq y + \text{Re}\{\alpha\}$ . Also it is convergent for  $|z| < \alpha^{\alpha}$ , if  $x = y + \text{Re}\{\alpha\}$ .

<sup>&</sup>lt;sup>1</sup> Department of Mathematics, Payame Noor University, P.O. Box: 19395-3697, Tehran, Iran. e-mail: najafzadeh1234@yahoo.ie; ORCID: https://orcid.org/0000-0002-8124-8344.

<sup>§</sup> Manuscript received: October 01, 2019; accepted: January 20, 2020.

TWMS Journal of Applied and Engineering Mathematics, Vol.11, No.4 © Işık University, Department of Mathematics, 2021; all rights reserved.

The q-analogue of Pochhammer symbol is defined by:

$$(\gamma;q)_k = \prod_{n=0}^{k-1} (1 - \gamma q^n), \qquad (k \in \mathbb{N}), \tag{4}$$

and for k = 0 and  $q \neq 1$ ,  $(\gamma; q)_0 = 1$ .

When  $k \to \infty$ , we shall assume that |q| < 1, see [3]. Also q-derivative of a function f(z)is defined by:

$$\left(\partial_q f\right)(z) = \frac{f(z) - f(qz)}{(1 - q)z}, \qquad (z \neq 0, \quad q \neq 0), \tag{5}$$

and

$$\lim_{q \to 1} \left( \partial_q f \right)(z) = f'(z). \tag{6}$$

By using (5), we conclude that:

$$\left(\partial_{\frac{1}{q}}^{n}f\right)(z) = q^{n}\left(\partial_{q}^{n}f\right)\left(\frac{z}{q^{n}}\right),\tag{7}$$

$$\partial_q^n z^{\lambda} = \frac{\Gamma_q(\lambda + 1)}{\Gamma_q(\lambda - n + 1)} z^{\lambda - n}, \qquad (\operatorname{Re}\{\lambda\} + 1 \geqslant 0). \tag{8}$$

Indeed  $\Gamma_q(z+1) = \frac{1-q^z}{1-q}\Gamma_q(z)$ , see [3] and [5]. Further, the q-analogue of the Beta function is defined by:

$$\beta_q(x,y) = \int_0^1 t^{x-1} \frac{(tq;q)_{\infty}}{(tq^y;q)_{\infty}} d_q(t) = \frac{\Gamma_q(x)\Gamma_q(y)}{\Gamma_q(x+y)},\tag{9}$$

where  $\operatorname{Re}\{x\} > 0$ ,  $\operatorname{Re}\{y\} > 0$  and  $\Gamma_q(\cdot)$  is the q-gamma function.

Now, we consider the q-analogue of generalized M-series as follow:

$${}_{x}^{\alpha}\mathcal{M}_{y}^{\beta}(z;q) = \sum_{k=0}^{\infty} \frac{(b_{1};q)_{k}\cdots(b_{x};q)_{k}}{(d_{1};q)_{k}\cdots(d_{y};q)_{k}(q;q)_{k}} \frac{z^{k}}{\Gamma_{q}(\alpha k + \beta)},$$

$$(10)$$

where  $\alpha, \beta \in \mathbb{C}$ , Re $\{\alpha\} > 0$ , |q| < 1,  $(\gamma; q)_k$  is the q-analogue of Pochhammer symbol and  $\Gamma_q(\cdot)$  is the q-gamma function, see [8]. We note that  ${}^{\alpha}_x\mathcal{M}^{\breve{\beta}}_y(z;q)$  is convergent, see [6].

Some special cases of  ${}^{\alpha}_{x}\mathcal{M}^{\beta}_{y}(z;q)$  are:

- (1) The q-Mittag-Leffler function [7].
- (2) The generalized q-Mittag-Leffler function [12].
- (3) The q-generalized M-series as a special case of the well-known q-Wright generalized hypergeometric function [9].

Let  $\mathcal{A}$  denote the class of function f(z) of the type:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \tag{11}$$

which are analytic in the open unit disk:

$$\mathbb{D} = \{ z \in \mathbb{C} : |z| < 1 \},\tag{12}$$

and  $\mathcal{N}$  be a subclass of  $\mathcal{A}$  consisting of functions with negative coefficients of the form:

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \qquad (a_k \geqslant 0).$$
 (13)

For f(z) given by (11) and  $g(z) = z + \sum_{k=2}^{\infty} b_k z^k$  the Hadamard product (convolution) of f and g denoted by (f \* g) is defined by:

$$(f * g)(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k = (g * f)(z).$$
(14)

Further for f and g analytic in  $\mathbb{D}$ , we say that f is subordinate to g written  $f \prec g$ , if there exists a function w analytic in  $\mathbb{D}$ , with w(0) = 0 and |w(z)| < 1 such that f(z) = g(w(z)). If g is univalent, then  $f \prec g$  if and only if f(0) = 0 and  $f(\mathbb{D}) \subset g(\mathbb{D})$ .

Now we introduce a new subclass of  $\mathcal{N}$  denoted by  $\mathcal{S}(A,B,t)$  consisting of all functions in  $\mathcal{N}$  for which:

$$\frac{zH'(z)}{f_t(z)} \prec \frac{1+Az}{1+Bz} \tag{15}$$

or equivalently

$$\left| \frac{\frac{zH'(z)}{f_t(z)} - 1}{A - Bz \frac{H'(z)}{f_t(z)}} \right| < 1, \tag{16}$$

where  $0 \leqslant t \leqslant 1, -1 \leqslant B \leqslant 1, -1 \leqslant A \leqslant 1$ ,

$$H(z) = (f * F)(z), f_t(z) = (1 - t)z + tf(z),$$
 (17)

 $f(z) \in \mathcal{N}$  and

$$F(z) = \left(1 + \frac{(1 - b_1) \cdots (1 - b_x)}{(1 - d_1) \cdots (1 - d_y) \Gamma(\alpha k + \beta)}\right) z + \frac{1}{\Gamma_q(\beta)} - {}_x^{\alpha} \mathcal{M}_y^{\beta}(z; q).$$
(18)

From (14), (17) and (18) with a simple calculation, we get:

$$H(z) = z - \sum_{k=2}^{\infty} \frac{(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma_q(\alpha k + \beta)} a_k z^k.$$
(19)

For more details about q-calculus, M-series and related areas, one may refer to the recent papers [1, 2] and [4] on the subject.

## 2. Main results

In this section, we shall obtain sharp coefficient estimates for functions in S(A, B, t). Also we will prove S(A, B, t) is a convex set.

**Theorem 2.1.** Let  $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in \mathcal{N}$ . Then  $f \in \mathcal{S}(A, B, t)$  if and only if

$$\sum_{k=2}^{\infty} \left[ \left( \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} - t \right) \frac{1-B}{A-B} + t \right] a_k \leqslant 1, \tag{20}$$

where  $-1 \le A, B \le 1, 0 \le t \le 1$  and  $B \le A$ .

*Proof.* Let  $z \in \partial \mathbb{D} = \{z : |z| = 1\}$ , so by (11) and (19) we have:

$$X = |zH'(z) - f_{t}(z)| - |Af_{t}(z) - BzH'(z)|$$

$$= \left| z - \sum_{k=2}^{\infty} \frac{k(b_{1}; q)_{k} \cdots (b_{x}; q)_{k} a_{k}}{(d_{1}; q)_{k} \cdots (d_{y}; q)_{k} (q; q)_{k} \Gamma_{q}(\alpha k + \beta)} z^{k} - (1 - t)z - tf(z) \right|$$

$$- \left| A(1 - t)z + tf(z) - B \left( z - \sum_{k=2}^{\infty} \frac{k(b_{1}; q)_{k} \cdots (b_{x}; q)_{k} a_{k}}{(d_{1}; q)_{k} \cdots (d_{y}; q)_{k} (q; q)_{k} \Gamma_{q}(\alpha k + \beta)} z^{k} \right) \right|$$

$$= \left| - \sum_{k=2}^{\infty} \left[ \frac{k(b_{1}; q)_{k} \cdots (b_{x}; q)_{k} a_{k}}{(d_{1}; q)_{k} \cdots (d_{y}; q)_{k} (q; q)_{k} \Gamma_{q}(\alpha k + \beta)} - t \right] a_{k} z^{k} \right|$$

$$- \left| (A - B)z - \sum_{k=2}^{\infty} \left[ tA - Bk \frac{(b_{1}; q)_{k} \cdots (b_{x}; q)_{k}}{(d_{1}; q)_{k} \cdots (d_{y}; q)_{k} (q; q)_{k} \Gamma_{q}(\alpha k + \beta)} \right] a_{k} z^{k} \right|.$$

By putting

$$tA - Bk \frac{(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} = t(A - B) - \left[k \frac{(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} - t\right] B,$$

the above expression reduces to

$$X \leqslant \left| \sum_{k=2}^{\infty} \left[ \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k \Gamma(\alpha k + \beta)} (1 - B) + t(A - B) \right] a_k - (A - B) \right|,$$

and

$$X \leq \left| (A - B) - \sum_{k=2}^{\infty} \left[ \left( \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma_q(\alpha k + \beta)} - t \right) (1 - B) + t(A - B) \right] a_k \right|$$

$$\leq \left| 1 - \sum_{k=2}^{\infty} \left[ \left( \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma_q(\alpha k + \beta)} - t \right) \frac{(1 - B)}{(A - B)} + t \right] a_k \right|$$

$$< 1.$$

By using (20), we get  $X \leq 1$ , so  $f \in \mathcal{S}(A, B, t)$ .

To prove the converse, let  $f \in \mathcal{S}(A, B, t)$ , thus:

$$\frac{\left| \frac{zH'(z)}{f_t(z)} - 1}{A - B \frac{zH'(z)}{f_t(z)}} \right| = \frac{\left| z - \sum_{k=2}^{\infty} \frac{k(b_1; q)_k \cdots (b_x; q)_k a_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} z^k - (1 - t)z - tf(z) \right|}{\left| A \left( (1 - t)z + tf(z) \right) - B \left( z - \sum_{k=2}^{\infty} \frac{k(b_1; q)_k \cdots (b_x; q)_k a_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} z^k \right) \right|} < 1,$$

for all  $z \in \mathbb{D}$ . Since for all  $z \in \mathbb{D}$ ,  $\operatorname{Re}\{z\} \leq |z|$ , we have:

$$\operatorname{Re} \left\{ \frac{\sum_{k=2}^{\infty} \left[ \frac{k(b_{1};q)_{k} \cdots (b_{x};q)_{k}}{(d_{1};q)_{k} \cdots (d_{y};q)_{k} \Gamma(\alpha k + \beta)} - t \right] a_{k} z^{k}}{(A - B)z - \sum_{k=2}^{\infty} \left[ tA - \frac{Bk(b_{1};q)_{k} \cdots (b_{x};q)_{k}}{(d_{1};q)_{k} \cdots (d_{y};q)_{k} \Gamma(\alpha k + \beta)} \right] a_{k} z^{k}} \right\} < 1.$$

By letting  $z \to 1$ , through positive real values and choose the values of z such that  $\frac{zH'(z)}{f_t(z)}$  is real, we get:

$$\sum_{k=2}^{\infty} \left( \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} - t \right) a_k$$

$$\leq (A - B) - \sum_{k=2}^{\infty} \left( tA - \frac{Bk(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} \right) a_k,$$

and this gives the required results.

Remark 2.1. We note that the function

$$G(z) = z - \frac{A - B}{\left(\frac{2(b_1; q)_2 \cdots (b_x; q)_2}{(d_1; q)_2 \cdots (d_y; q)_2 \Gamma(2\alpha + \beta)} - t\right) (1 - B) + t(A - B)} z^2,$$
(21)

shows that the inequality (20) is sharp. Also for all  $k \ge 2$ , we have:

$$a_{k} \leqslant \frac{(A-B)}{\left(\frac{k(b_{1};q)_{k}\cdots(b_{x};q)_{k}}{(d_{1};q)_{k}\cdots(d_{y};q)_{k}(q;q)_{k}\Gamma(\alpha k+\beta)} - t\right)(1-B) + t(A-B)}.$$
(22)

**Theorem 2.2.** S(A, B, t) is a convex set, where  $-1 \le A \le 1$ ,  $-1 \le B \le 1$  and  $0 \le t \le 1$ .

*Proof.* To establish the required result, it is sufficient to prove that if the functions  $f_j(z)$ ,  $(j=1,2,\ldots,m)$  be in the class  $\mathcal{S}(A,B,t)$ , then the function  $h(z)=\sum_{j=1}^m \lambda_j f_j(z)$ ,  $(\lambda_j \geqslant 0, \sum_{j=1}^m \lambda_j = 1)$  is also in  $\mathcal{S}(A,B,t)$ . But by definition of h(z), we obtain:

$$h(z) = \sum_{j=1}^{m} \lambda_j \left( z - \sum_{k=2}^{\infty} a_{k,j} z^k \right)$$
$$= z - \sum_{k=2}^{\infty} \left( \sum_{j=1}^{m} \lambda_j a_{k,j} \right) z^k.$$

But by Theorem 2.1, we have:

$$\sum_{k=2}^{\infty} \left[ \left( \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} - t \right) (1 - B) + t(A - B) \right] \left( \sum_{j=1}^{m} \lambda_j a_{k,j} \right)$$

$$= \sum_{j=1}^{m} \lambda_j \left\{ \sum_{k=2}^{\infty} \left[ \left( \frac{k(b_1; q)_k \cdots (b_x; q)_k}{(d_1; q)_k \cdots (d_y; q)_k (q; q)_k \Gamma(\alpha k + \beta)} - t \right) (1 - B) + t(A - B) \right] a_{k,j} \right\}$$

$$\leqslant \sum_{j=1}^{m} \lambda_j (A - B) = A - B,$$

which completes the proof.

# 3. Geometric properties of S(A, B, t)

In the last section, we show that the class S(A, B, t) is closed under convolution. Also radii of starlikeness convexity are introduced.

**Theorem 3.1.** Let the function f and g defined by:

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \qquad g(z) = z - \sum_{k=2}^{\infty} b_k z^k,$$

be in the class S(A, B, t), then f \* g given by (14) belongs to S(A, B, t), where  $B_0 \leqslant \frac{AY-1}{V-1}$ ,

$$Y = \frac{t + \left[ \left( Q(\alpha, \beta) - t \right) \left( \frac{1 - B}{A - B} \right) + t \right]^2}{Q(\alpha, \beta) - t},$$
(23)

$$Q(a,b) = \frac{k(b_1;q)_k \cdots (b_x;q)_k}{(d_1;q)_k \cdots (d_y;q)_k (q;q)_k \Gamma(\alpha k + \beta)}.$$
 (24)

*Proof.* It is sufficient to show that:

$$\sum_{k=2}^{\infty} \left[ \left( Q(\alpha, \beta) - t \right) \left( \frac{1 - B}{A - B} \right) + t \right] a_k b_k \leqslant 1,$$

where Q(a, b) is defined by (24).

By using Cauchy-Schwartz inequality, from (20), we obtain:

$$\sum_{k=2}^{\infty} \left[ \left( Q(\alpha, \beta) - t \right) \left( \frac{1 - B}{A - B} \right) + t \right] \sqrt{a_k b_k} \leqslant 1.$$

Hence, we find the largest  $B_0$  such that:

$$\sum_{k=2}^{\infty} \left[ \left( Q(\alpha, \beta) - t \right) \left( \frac{1 - B_0}{A - B_0} \right) + t \right] a_k b_{\leqslant} \sum_{k=2}^{\infty} \left[ \left( Q(\alpha, \beta) - t \right) \left( \frac{1 - B}{A - B} \right) + t \right] \sqrt{a_k b_k} \leqslant 1,$$

or equivalently

$$\sqrt{a_k b_k} \leqslant \frac{\left(Q(\alpha, \beta) - t\right) \left(\frac{1-B}{A-B}\right) + t}{\left(Q(\alpha, \beta) - t\right) \left(\frac{1-B_0}{A-B_0}\right) + t}, \qquad (k \geqslant 2).$$

This inequality holds if

$$\frac{A - B}{(Q(\alpha, \beta) - t)(1 - B) + t(A - B)} \le \frac{\left[ (Q(\alpha, \beta) - t)(1 - B) + t(A - B)\right](A - B_0)}{\left[ (Q(\alpha, \beta) - t)(1 - B_0) + t(A - B_0)\right](A - B)},$$

or equivalently

$$B_0 \leqslant \frac{AY - 1}{Y - 1},$$

where Y is given by (23), and this completes the proof.

**Theorem 3.2.** If  $f(z) \in \mathcal{S}(A, B, t)$ , then:

(1) f is univalently starlike of order  $\delta$  (0  $\leq$   $\delta$  < 1) in |z| <  $R_1$ , where:

$$R_1 = \inf_{k \ge 2} \left[ \frac{1 - \delta}{k - \delta} \left( \left( kQ(\alpha, \beta) - t \right) \left( \frac{1 - B}{A - B} \right) + t \right) \right]^{\frac{1}{k - 1}},$$

and  $Q(\alpha, \beta)$  is given by (14).

(2) f is univalently convex of order  $\delta$  (0  $\leq$   $\delta$  < 1) in |z| <  $R_2$ , where:

$$R_2 = \inf_{k \ge 2} \left[ \frac{1 - \delta}{k(k - \delta)} \left( \left( kQ(\alpha, \beta) - t \right) \left( \frac{1 - B}{A - B} \right) + t \right) \right]^{\frac{1}{k - 1}}.$$

Proof.

(1) It is sufficient to show that  $\left|\frac{zf'}{f}-1\right| \leqslant 1-\delta$  for  $|z| < R_1$ . But

$$\left| \frac{zf'}{f} - 1 \right| = \left| \frac{\sum_{k=2}^{\infty} (k-1)a_k z^k}{z - \sum_{k=2}^{\infty} a_k z^k} \right| \leqslant \frac{\sum_{k=2}^{\infty} (k-1)a_k |z|^{k-1}}{1 - \sum_{k=2}^{\infty} a_k |z|^{k-1}} \leqslant 1 - \delta,$$

or

$$\sum_{k=2}^{\infty} \left( \frac{k-\delta}{1-\delta} \right) a_k |z|^{k-1} \leqslant 1.$$

By applying (22), we conclude the result.

(2) Since f is convex "if and only if zf' is starlike", we get the required result, so the proof is complete.

### References

- [1] Ahmad, B. and Arif, M., (2018), New subfamily of meromorphic convex functions in circular domain involving q-operator, Int. J. Anal. Appl., 16(1), pp. 75–82.
- [2] Chouhan, A. and Saraswat, S., (2012), Certain properties of fractional calculus operators associated with M-series, Scientia: Series A: Mathematical Sciences, 22, pp. 25–30.
- [3] Gasper, G., Rahman, M. and George, G., (2004), Basic hypergeometric series, volume96, Cambridge university press.
- [4] Jackson, F. H., (1909), On q-functions and a certain difference operator, Earth Env. Sci. T. R. So., 46(2), pp. 253–281.
- [5] Jackson, F. H., (1910), On q-definite integral, Pure and Applied Mathematics Quarterly, 41, pp. 193– 203.
- [6] Malik, S. H., Jain, R. and J. Majid, (2019), Certain properties of q-fractional integral operators associated with q-analogue of generalized M-series, UGC Approved Journal, 12(4), pp. 1006–1015.
- [7] Purohit, S. D. and Ucar, F., (2018), An application of q-sumudu transform for fractional q-kinetic equation, Turkish J. Math., 42(2), pp. 726–734.
- [8] Rajković, P. M., Marinković, S. D. and Stanković, M. S., (2007), Fractional integrals and derivatives in q-calculus, Appl. anal. discr. math., pp. 311–323.
- [9] Saxena, R. and Kumar, R., (1995), A basic analogue of the generalized *H*-function, Le Matematiche, 50(2), pp. 263–271.
- [10] Sharma, M., (2008), Fractional integration and fractional differentiation of the M-series, Fract. Calc. Appl. Anal., 11(2), pp. 187–191.
- [11] Sharma, M. and Jain, R., (2009), A note on a generalized *M*-series as a special function of fractional calculus, Fract. Calc. Appl. Anal., 12(4), pp. 449–452.
- [12] Sharma, M. and Jain, R., (2014), On some properties of generalized q-Mittag-Leffler function, Mathematica Aeterna, 4(6), pp. 613–619.



Shahram Najafadeh graduated from Department of Mathematics at Shahid Bahonar University of Kerman, Iran in 1989. Then he continued his education at Islamic Azad University as a MSc student and graduated in 1992. He completed his Ph.D. study in complex analysis at Pune University, India in 2006 under the guidance of Prof. Dr. S. R. Kulkarni. He conducts studies about complex analysis, specially univalent and multivalent functions, differential and Integral operators and related subjects. He is an associated professor at Payame Noor University, Tehran, Iran.